N of reco track vs dxy(PV)

| N of associated (recoToSim) tracks vs dxy(PV)

N of associated (recoToSim) looper tracks vs dxy(PV)

4] F %] %] F ]
X F - X B4 - x - -
8. : g g g
=10 s 5 90k £
g 2 10 @
E s F @
10* I =
10°F 3
10° E
10°F
10? E
10 3
%
i<} e =]
T 15 = =
@ 14 14
£- ]
N | 1, osbei i ! HI HIH TR I A | S ORI | R
=25- 20 15 10-5 0 5 10 15 20 25 —25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
trac 1 o . ,_drack dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
— P ||| Eit= \/ RN |||a
—— PR M_$ —m I g M_OI‘I 27
N of reco track vs  ———— : —1I—m 11-
2 £ 2 g
& & .5 o] ©
=1 = 10 5 10 =
= K 10 @
E k] 8
10 =
10° E]
10?
10?
10
10
=] ] =] =]
kS $ 18 8wk H-HH- A HR - -5 <A - s
A L1 ] 05 J M | I |
—1—08—06—04—020 02040608 1 : -1 08—06—04—020 02040608 1
track dxy(PV) (cm) 1rack dxy(PV) (cm) track dxy(PV) (cm) Irack dxy(PV) (cm)
[N of associated (recoTosim) tracks vs dz(PV) ] N of associated (1ecoToSim) looper racks vs dz(PV) |
%] F %] F [4] ]
] F ] F s S
IS S .5 S &
= = 10 S 40t =
- s g% 2
: E k. g
10°F g 10* g
; : 10° 3
10°F- ;
E : a! 10?
L it S A Poeeeebeees -
E [ N e
] : K,
I N . . 10
T O SO s e
1 N N 1
L2 e o v e
& & g 12 &
1.3
: : : | %-- : iR :
°9} 20 -10 0 10 20 30 0%5 20 -10 O 10 20 30 -30 °%0 20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper racks vs dz(PV) |
2] 1%} 123 0
ks ] s S
8 g g g
[ [} Q
E B 10 N
=
=]
o
=] e o .
© I I ,'
o4 14 x :
1.2~ i
0. k= = Lk
-1 -0.5 0 0.5 1 1

. 1
track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


